<4 LOGLIFT

Model:F 105 S 553001
Slewing system @90-666 / 145°

553001 - Slewing system @90-666 / 145°

50 Nm
Loctite 243

Page 1 of 2 2014-10-16



<4 LOGLIFT

C-Service 3
553001 - Slewing system @90-666 / 145°

Pos Part No Description EN Description DE Quantity
1 94565800 Cylinder tube Zylinderrohr 4
2 94565804 Rack bar Zahnstange 2
3 94565806 Piston Kolben 4
4 94565102 Step bearing Stitzlager 2
5 94565807 Throttle pin Drosselzapfen 4
6 94252521 Throttle ring Drosselring 4
7 54332300 Circlip 30x1,2 Sicherungsring 30x1,2 4
8 82356090 Seal Dichtung 4
9 82357135 Locating ring Filhrungsring 8
10 82355190 Wiper ring Abstreifring 4
1" 82367980 O-ring 98,02x3,55 O-Ring 98,02x3,55 4
12 82371833 Seal ring Dichtungsring 4
13 82371010 Seal ring Dichtungsring 16
14 45604209 Socket head cap screw M 10 x 60 8.8 Innensechskantschraube M 10 x 60 8.8 16
15 45625220 Socket head cap screw M 12 x 70 12.9 Innensechskantschraube M 12 x 70 12.9 32
16 94236857 Bushing Buchse 32

55.300.1 Slewing system 1 No 105051-105137, 120051-12007 Schwenkwerk 1 No 105051-105137, 120051-120073 0

Kit 94565808 Seal kit Dichtungssatz
8 82356090 Seal Dichtung
10 82357135 Locating ring Fuhrungsring

1 82367980

O-ring 98,02x3,55

O-Ring 98,02x3,55

2014-10-16

Page 2 of 2



